

			т	abulation of B	ids	Page 1			
Contract ID:	25428			Counties:	BERGEN, ESS UNION, WARR	EX, HUDSON, M EN	IORRIS, PASS	AIC, SUSSEX,	
Letting Date:	October 31, 20)24		District(s):	N4				
Call Order:	428			Project(s):	N/A				
Contract Time:	12/31/25 COM	PLETION DA	ATE	Min:	Max:				
Contract Descrip	otion: MTN S	STEEL & ALL	JMINUM REP. N	ORTH- 2025					
Line No / Item ID Item Description			(1) IEW CON GROUE						
Alt Set / Alt Membe	r Quanti	ty and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001	BF	RIDGE		Cat Al	t Set:	Cat A	It Member:		
0001 151006M		1.000	55,000.00000	55,000.00					
PERFORMANCE BON PAYMENT BOND	ID AND	DOLL							
0002 152015P		1.000	0.01000	0.01					
POLLUTION LIABILITY	Y INSURANCE	DOLL							
0003 MMG010M		5,500.000	1.00000	5,500.00					
TELEPHONE SERVIC	E	DOLL							
0004 MMB172M		2,050.000	100.00000	205,000.00					
LANE CLOSURES		HOUR							
0005 MMB173M	2	20,000.000	1.00000	20,000.00					
SOLID WASTE DISPO	SAL	DOLL							

11/1/2024



			т	abulation of B	ids			Page 2 of 3
Contract I	D: 25428			Counties:	BERGEN, ESSI UNION, WARRI		IORRIS, PASS	AIC, SUSSEX,
Letting Dat	e: October 31	, 2024		District(s):	N4			
Call Orde	r: 428			Project(s):	N/A			
Contract Tim	e: 12/31/25 C	OMPLETION DA	ATE	Min:	Max:			
Contract Des	cription: MT	N STEEL & ALL	JMINUM REP. N	ORTH- 2025				
Line No / Item I Item Descriptio			(1) IEW CONS GROUF					
Alt Set / Alt Mer	nber Qua	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 000	1	BRIDGE		Cat A	t Set:	Cat A	It Member:	
0006 MMG02	27M	4,000.000	1.00000	4,000.00				
DISPOSAL OF RE MATERIAL	GULATED	DOLL						
0007 MMG06	64M	4,000.000	1.00000	4,000.00				
DISPOSAL OF RE MATERIAL, HAZA		DOLL						
0008 MMG09	95M -	4,010,000.000	1.05000	4,210,500.00				
ADJUSTMENT FA ACCOUNT)	CTOR , (FORCE	PCT						
0009 MMB18	6M	1,900.000	457.42000	869,098.00				
LABOR CREW , S	IGN	HOUR						
0010 MMB18	6M	13,500.000	263.71000	3,560,085.00				
LABOR CREW , W	ELDING	HOUR						

11/1/2024



		Т	abulation of B	ids	Page 3 of 3		
Contract ID: 25428	Counties:	BERGEN, ESS UNION, WARR		SON, MORRIS, PASSAIC, SUSSE			
Letting Date: Octobe	er 31, 2024		District(s):	N4			
Call Order: 428			Project(s):	N/A			
Contract Time: 12/31/2	25 COMPLETION DA	ATE	Min:	Max:			
Contract Description:	MTN STEEL & ALL	JMINUM REP. N	ORTH- 2025				
Line No / Item ID Item Description		(1) IEW CON GROUF					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	BRIDGE		Cat A	t Set:	Cat A	It Member:	
0011 MMB092M	2,000.000	130.00000	260,000.00				
CREW COORDINATOR	HOUR						
0012 MMG025M	174,000.000	1.00000	174,000.00				
OVERTIME DIFFERENTIAL (OD) DOLL						
0013 MMB186M	6,500.000	557.42000	3,623,230.00				
LABOR CREW , STEEL	HOUR						
Section Totals:		9	\$12,990,413.01				
Contract Totals \$			\$12,990,413.01				
Cost P	Plus Time Totals		\$12,990,413.01				
() indicates item is bid a	is Lump Sum	1		1		I	

		Vendor Ranking			Page:
Call Order:	428	Contract ID: 25428	Counties:	HUDSO PASSAI	N, ESSEX, N, MORRIS, IC, SUSSEX, , WARREN
Letting Date:	October 31, 2024 10:00 AM	District(s): N4			
		Contract Time: 12/31/25 COMPLETION DATE			
Contract Descr	iption: MTN STEEL & ALUMINU	M REP. NORTH- 2025	Project(s):	N/A	
Rank	Vendor Name		Total E	šid	Percent Of Low Bid
1	IEW CONSTRUCTION GROUP, IN	NC.	\$12,990,4	13.01	100.00%

State of New Jersey

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.